Geometry H Name: K%
7.2: Converse of Pythagorean Theorem Date: Period:
. I can determine if side lengths form a triangle.
. I can find possible side lengths of a triangle
-':: | can classify a triangle as acute, obtuse, or right given side lengths.
Theorem Example
Triangle Inequality Theorem b atb>c
The sum of any two sides of a triangle is greater than b+ c¢>a
the third side length. = c+a>h
c

Example 1: Find possible side lengths.

The Iengths of two sides of a triangle are given. Descr:be tILe possible lengths of the third side.

a) 14 and 10 b) 23 and 17
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Converse of Pythagorean Theorem

Given three sides of a triangle, a, b,
and ¢, where c is the longest side,

if ¢> =a” +b?, then the triangle is a

right triangle.
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Given three sides of a triangle, a, b,
and ¢, where c is the longest side,

if ¢ <a® +b?, then the triangle is an
acute triangle.

Given three sides of a triangle, g, b,
and ¢, where cis the longest side,

if ¢ >a” +b?%, then the triangle is an
obtuse triangle.
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Example 2: Classify triangles, if possible.
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Determine if the given side lengths can form a triangle. If so, would the traangle be acute, rlght or obtuse?
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Example 3: Creating triangles

a b C
An obtuse triangle has side lengths x, x-3, and 33, where 33 is the length of the longest side. What value(s) of x
make the triangle obtuse?
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Wnat vatue(s) make the friangie obfuse?
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